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Section : Part-A-General Intelligence and Reasoning

Q.1 fau U fawent § | I H&R-[YE BT T4 Biore vl {4 J@ar & uzH-fg (7) $ RA W

3 gehaT 8l
BWLS, FTPW, JQTA, 2, RKBI

Ans 7 1. NNXE
< 2. NXCR
< 3.LKPE
< 4. JLPR

Question ID : 26433074741
Status : Answered
Chosen Option : 1

Q.2 T® FAfyd e T #, 'FIT' B 'FGIST' & =q ¥ foram SireT & 8k 'KIN' B 'KLIMN' & &1
¥ e wirar 81 S wwr ® oy Y 9 R s

Ans X 1.JJOYY

« 2. JKOXY
< 3. KJOYX
7 4. KKOXX

Question ID : 26433069643
Status : Answered
Chosen Option : 2

Q.3 HIF-TT HeR-TYE & TS STar § uyRg (?) F R W ATH 4R $1 qof Hm?
ALTY, DNVA, ?, JRZE, MTBG

Ans X 1.GQYC
< 2.GPYC
X 3.GQxC
o 4. GPXC

Question ID : 26433067950
Status : Answered

Chosen Option : 4




Q4 TH P UTST # 'sweet fruits’ P 're de’, 'mango is sweet' &Y 'de me ke', 'orange is citrus'
Y ke le pe', 'eat orange' | 'pe ne' FEUH Pcd&K o sman %I Qe ‘citrus’ * ﬁl‘l:{ P
a1 M
Ans X 1.ke
X 2.pe
o 3. le
X 4.de

Question ID : 26433082268
Status : Answered
Chosen Option : 3

Q.5 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Elephant : Herd :: Fish : ?

Ans X 1.Sea
&’ 2. Shoal
75 3. River
< 4. Aquarium

Question ID : 26433067375
Status : Answered
Chosen Option : 2

Q.6 I ey BT Ig BN S TR Mg A I TSR Jafid g For UPR goRT g 1gd
Teg | Tafta B1 (Rrea) B Srdyuf wreaf & =0 F AT @ 8k S We W SraRiaie Rt
P BT & YR TR Th-goY J Fafed T8 S 81)
UG : A :: SIFT
Ans X 1.3%R
X 2. MR
3. RURDIT

X 4.4919

Question ID : 26433079400
Status : Answered
Chosen Option : 3

Q.7 fau T fawent o | a8 wen g, wit fFafafad s § vy-fag (2) @ ufawnfia w=
?3?;2, 14,41, 5, 50, ?
Ans 1.4
X2 -2
X 3.2
X 4.-3

Question ID : 26433078925
Status : Answered
Chosen Option : 1




Qs %ﬁmﬁmﬁﬁaﬁ@ama‘fmagmﬁmw%, fora wu A 3 3l g I Hf Sma
.
1 fondant
2 fountain
3 follow
4 forgive
5 forget

Ans X 1.34152
o 2.31542
X 3.3145.2
X 4.35124

Question ID : 26433069309
Status : Answered
Chosen Option : 2

Q9 e @1 3rdf +, P13k x , $ BT 3 + 3R % P71 3k - §, N FwfAa Tiiwwo w1a9
T M2
10#25@5$20 % 10 =?
Ans 7 1.60
X 2.50
X 3.40
X 4.85

Question ID : 26433085655
Status : Answered
Chosen Option : 1

Q.10 T: AR A, B, C, D, E 31X F U Ul W IR B1 3R T 73 3 81 D Ui » e R
RIS FDF IR AR SF TAA ISR AR FF AT A FIABISTRICIHRAF
T W Fad E BT A F 313 3R 31 e A 19 33182

Ans X 1.F
X 2D
 3.B
X 4.E

Question ID : 26433074626
Status : Answered
Chosen Option : 3

Q.11 3 faped &1 999 B3, &l uiEd! T=m | 3 UpR Hefid 8, Ry ver gadt e, ugelt
=T & Faftr g ok =it e, TR T @ et 21
320:4::40:2::1715:?

Ans 1.7
<29
< 3.10
X 4.5

Question ID : 26433069422
Status : Answered
Chosen Option : 1




Q12w av Rwmedt # ¥ 37 3T & 99w o AT gwer &
geAaEF RET (?) & T F W B

@9 | EQ % ”

@0

Ans

e |55 || || Ge

Question ID : 26433080485

Status : Answered

Chosen Option : 2




13 37 Rwer T Ife, St wEgE BT § FafiRe ¥ (@ aaEe a
?)

Ans

AN

=

X< 3.

x4

Question ID : 26433069357

Status : Answered

Chosen Option : 2




Q.14

Ans

TOOT W FE AR W@ I W, FaR@e & 9 #a-ah gy & v sl
=T &= guor wfafaes #Ei?
g9 HTHI:
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Question ID : 26433087086
Status : Answered
Chosen Option : 2

Q15 A+B FTAHF2F A, BFIUED

‘A-B PTAf 8P A BF U &
AxB BTATRF A, BRI R

Az PTAfEfFA, BITURE
P +Q-S+RxL+Mg,d Fufifad d & o19-a1 = a8t 78 22

Ans X 1.P S Udl BT HS Bl

&< 2.Q

R® HTE &1 Ual g

& 3. M, QP TG 8

X 4.M,

R & AR

Question ID : 26433069656
Status : Answered
Chosen Option : 3




Q.16 9 Py fau mu &, R arg A1 s |, 1 3R i1 e 7T §1 Fu=T #) I 94 g, v
B 3 9= U 79 9 9 U ydid g 8, uffa #3 [ - s sy o
AIfh® U | 3ART BT &/dd B

forent

1. 9 we wsfhai g1
I1. 9t gy afgend g1
Ill. $° dsieal 7oy gl

Ans 1. bl FISRY |11 SR BT 3
X 2. T s SfERT R B
2 3. Faq fIsh 11 3R 111 3TERT R &
X 4. Fad Frshs | 3R 111 SFER0 B B

Question ID : 26433090985
Status : Answered
Chosen Option : 1

Q.17 Fgfafaa ¥ @ F19-0 T & 7€ Jaen § uy-fug (2) ) fowiriia st

51, 52, 56, ?, 81, 106
Ans X 1.64

< 2.66

& 3.65
X 4.67

Question ID : 26433069385
Status : Answered
Chosen Option : 3

Q.18 R faw e Tfiwrur & Mrda = 3 9 M F g T & el © R sgeEn
:T?SI::S+8—36+18=32
Ans 1 + 3R+
X 2.+ 3R %
X 3. -3R+
X 4 x 3R -

Question ID : 264330117513
Status : Answered
Chosen Option : 1

Q.19 B faendf ve gareR A9 & uRa: A9 & Fx Bt 3R T@ $> 96 1 88, QU F 915
3R g WH W 21 Ui, mﬁh%%wﬁ%lﬁm ﬁmﬂfaréahwﬁﬂ%
I TR 93T 21 5, Far & 918 3R g I W 3a71 21 fran, O & 918 3R gk -
R 33T B1 378 A B B SR GOH & S 971a A ds1a31 82

Ans X 1.94
o 2.
X 3. T
X 4.t

Question ID : 26433081772
Status : Answered
Chosen Option : 2




Q.20

Ans

TF & 9@ Fr ST -3 TuEar & catar T g1 4 e are
FolF & AOdT Fold Hr TEAT AT PaT

X 1.3
X 22
X35
& 41

Question ID : 26433090079
Status : Answered
Chosen Option : 4

Section : Part-B-General Knowledge and General awareness

Q.1

As of November 2022, who is the Union Minister for Communications & Electronics
and Information Technology in India?

Ans X 1. Anurag Thakur

/< 2. Narayan Rane

< 3. Kiren Rijiju

«” 4. Ashwini Vaishnaw

Question ID : 264330114940
Status : Answered
Chosen Option : 4

Q.2 YRA H, AFYA Ft 3afy 7 & IRY A RideR & gwg 9@ et & S g 21

Ans

« 1.100-120
< 2.60-80

2< 3.260 - 280
< 4.200 - 240

Question ID : 26433089660
Status : Answered
Chosen Option : 1

Q.3 fEfifEd o A f5d Fye F R Tilia Tee s RR I g fear T 82

Ans

X 1. RIS S

X 2. THR TONDT SRSAH
« 3. GG geRiard

X 4. 9E @ =

Question ID : 264330115882
Status : Answered
Chosen Option : 3




Q.4 What is the major constituent of cellular energy transfer systems?
Ans X 1.oxygen

5 2. methane
«” 3. phosphorus
< 4. carbon

Question ID : 264330115258
Status : Answered
Chosen Option : 1

Q.5 . R, FTHI gRT <A I JY P RITYAT 75 a9 o1 7S e
Ans X 1.1928

o 2.1930
< 3.1932
X 4.1926

Question ID : 264330115695
Status : Answered
Chosen Option : 2

Q.6 Ta ANGE F AR el F T@-Ea F R Yy B w1 B S °1?
Ans X 1. JeEHIS

X 2.3deH

X 3.5

o 4. TTETHT

Question ID : 264330115458
Status : Answered
Chosen Option : 4

Q.7 The principle of Fundamental Rights in the Indian Constitution has been borrowed
from which of the following countries?

Ans X 1.Canada
25 2. South Africa
«” 3. United States of America
2 4. United Kingdom

Question ID : 26433091447
Status : Answered
Chosen Option : 3

Q.8 fydar 2022 #, ASTIRGR TRTST § YR F Ieigd & =0 H fob i favam mar?
Ans 1. SO fAeHeTg

X 2. 3T HUAR

X 3. 7d4 sftaraa

X 4. TTd de

Question ID : 264330115003
Status : Answered
Chosen Option : 3




Q.9 YR ¥, fFad grRT gErwE I fAgfeT & ot 82
Ans X 13Ul

X 2. gy

3. ISIUTd

< 4. 3uyufd

Question ID : 26433089185
Status : Answered
Chosen Option : 3

Q.10 Roads linking a state capital with different district headquarters are known as
These roads are constructed and maintained by the State Public Works Department
(PWD) in State and Union Territories.

Ans X 1. District Roads

25 2. National Highways
/< 3. Border Roads
«” 4. State Highways

Question ID : 264330115547
Status : Answered
Chosen Option : 4

Q.11 HRd TWhR A 99 T uep rfuferaw uifva #ea, aepTe o 3R SRR
Iy @ fadiy Gaenfre fRufe Y v &< feam

Ans X 1.2021
X 2.2014
< 3.2018
o 4.2019

Question ID : 264330116228
Status : Answered
Chosen Option : 3

Q.12 TSN HRAHT I ¥ gHIRSH (Sanamahism) ¥ PT UTeH B
Nl BT 9 A9 996 Ia 2

Ans X 1. fifgen
o 2. TR
X 3,39
X 4. 3BV TR

Question ID : 264330115116
Status : Answered
Chosen Option : 2

Q.13 fafafaa & & frg faee) 3 uRa & foe ffde 3w fa & ygan wa® s=mar 412
Ans X 1 foqdies

o 2. Tl SERATY

X 3. W H g

X 4. Ul T

Question ID : 264330116299
Status : Answered
Chosen Option : 2




Q.14 TFPHT 3R YT B BIal P HeTs F SR fFUT 19 9161 §IHT 18T (Hurka Baul) T
TRIIA: Th HYUTHS Tod &Y ¢ 1 g8 Faferi@a & @ fpa sy | dafta 22

Ans 1 JIWES
X 2. Uolld
X 3. sfife=m
X 4. Ulw S

Question ID : 264330115065
Status : Answered
Chosen Option : 4

Q.15 3MSIRA (10C) F 3iaia ugen nYfF® el Ta Hal ST i UT?
Ans X 1 fyeitd
o 2.0
X 3.
X 4 oA

Question ID : 26433071559
Status : Answered
Chosen Option : 4

Q.16 How does white silver chloride turn grey in sunlight?
Ans 1. Due to the decomposition of silver chloride into silver and chlorine by light

75 2. Due to redox reaction
< 3. Due to the displacement of silver chloride to silver oxide

25 4. Due to rusting of silver in the presence of oxygen

Question ID : 26433087845
Status : Answered
Chosen Option : 3

Q.17 NABARD &1 YUl 30 &I 8?2
Ans 3 1. National Bank for Architecture and Rural Development (ﬁ"«’ﬁﬁéﬁ’ﬁ? GJTﬁ'ﬁTﬁ?QE
FRA STATHE)
/5 2. National Bank for Agriculture and River Development (W% Wﬁ@ﬂw us
Rar Sgaudc)
/< 3. National Body for Agriculture and Rural Development (WET@TWVR TeHeR T8
¥R SaAYHE)
«” 4. National Bank for Agriculture and Rural Development (%{W % BR mﬁw Q‘e’
FXA SaAUHC)

Question ID : 264330115300
Status : Answered
Chosen Option : 4

Q.18 HTH & JHRIPR B AN B & fIT URA 3} I SR gRT WeT Teh It arfror
AR R arfifraw fra ad F erfifraedta fasar war 12

Ans X 1.2006
< 2.2007
< 3.2009
 4.2005

Question ID : 264330116080
Status : Not Answered
Chosen Option : --




Q.19 Iron and steel are industry.
Ans X 1. agriculture

25 2. handloom
2% 3. agro-based
«” 4. mineral-based

Question ID : 264330115404
Status : Answered
Chosen Option : 4

Q.20 YRd A g wif~ & 3= Iuw 3 arelt forwat & ofiwil & vkt o) e Sirazamar & Afi?
Ans X 1. 5Ud ST &I QR UG &1 ST

X 2. urt @ Sifrafia smyfef @t ST

X 3. R Sl 1 IuanT

o 4. SRS 3R BICAS BT IUIRT

Question ID : 26433054625
Status : Answered
Chosen Option : 4

Section : Part-C-Elementary Mathematics

Q.1 6% i, 4 & U 3R 24 FT AYTH GUTIGE 1 B
Ans X 1.288

X 2.1152
 3.576
X 4.144

Question ID : 264330116657
Status : Answered
Chosen Option : 3

Q.2 H%I_é:na, k +2, 3k - 7, 2k - 3 faq 1€ wu ¥ wHgUTT A &, 9@ Y THuTd ST gHaw 9=
T EAM?

Ans X 1.-7
& 2.5
X 3.5
X 47

Question ID : 26433090255
Status : Answered
Chosen Option : 4

Q.3 13 92 Y 9 ¥ RIE FR Ft e = (Rpeireer #) 7 gft, afe ug ugd 3 42 F Riw 50
fopeiirder, erTal 4 b ¥ forw 60 fpeii/eeT 3R Sifew 6 U¢ & forw 65 fpfireer A ward 82

Ans 7 1.60
X 2.65
K 3.62.5
X 4.655

Question ID : 26433075906
Status : Answered
Chosen Option : 1




Q.4 T dw ¢ 192 frft Y arn & forg, dhft 39§ 2 92 ww 9wy At 1 afe dhft 39 Ft =,

s 3 &t °1e A 16 friirder w4 €, 9 wun: dhft ok aw 3 & =1 3ma +¥ )

Ans 1. 32 fofirder, 48 fHieer
X 2. 28 fopirder, 34 foetder
< 3. 30 fiEer, 40 foeider
X 4. 48 fpHifder, 64 feder

Question ID : 26433075394
Status : Answered
Chosen Option : 1

Q.5 A dealer gives an additional concession of 25% on an item that already has a discount
of 20% on the marked price. If a buyer pays ¥1,500 for the item, then find the marked

price.

Ams X 1.%2,225

X2 32,000

x 3. 1,875

¢ 432,500

Question ID : 26433090324
Status : Answered
Chosen Option : 4

Q.6

Ans > 11,323 cm?
X2 1,223 cm?
¢ 3. 1,232 cm?

X 41,322 cm?

What is the volume of a cone having radius 7 cm and slant height 25 ¢m? Take m= %

Question ID : 26433076252
Status : Answered
Chosen Option : 3

Q7 TP HW P TS H ATATHT 20% B S g 81 e 4 9 vgd S~ 62,500 A, ot

A SHEE et 82
Ans 7 1.1,29,600
< 2.1,29,800
< 3.1,29,900
2 4.1,29,700

Question ID : 26433082981
Status : Answered
Chosen Option : 1




Q.8 15%, 20% 30X 24% Y iY® Fel & fiQ Tuged voHa ge fra-i ghf?
Ans X 1.46.56%
o 2.48.32%
X 3.41.35%
X 4.44.25%

Question ID : 26433066308
Status : Answered
Chosen Option : 2

Q.9 T5 HeH TSI WE 41 3 Fored Hwr: 73 3% 98 W1 frwifora 3 w4 3R 6 AW wEaT 82
Ans 7 1.23

X213

X 3.1

X 4.46

Question ID : 26433075044
Status : Answered
Chosen Option : 1

Q.10 TH TBI & 10% P I F1 et 3R 7Y g5 W A 20% & w3t 1 weht }1 g@ w=n
# gu uRad= &1 g uforera 3 w31

Ans  p 1.12% Al

X 2.8% PH!

X 3. 12% 9f&

X 4.8% TG

Question ID : 26433075098
Status : Answered
Chosen Option : 1

Q.1 TH g & g H 30% BT giex ATl @ 3R TR 30% Pt Bt #1 Wl 81 avg & sifaw
T A Y5 wfoRa ufvads gia S|

Ans x1.9%aﬁq@
X 2. 12% B afG
o 3.9% DI Bl
X 4. 12% B B

Question ID : 26433079769
Status : Answered
Chosen Option : 3

Q.12 TS 9164 gRT & A gdt & v i wra @ 7 far sian @1 afe 39 g8 & e v
aﬁﬁwﬂﬁg@qﬂaﬁﬁmﬁmhw%ﬁﬁmﬁaﬁwﬁmm
I

Ans 7 1.4:1
K221
X 3.6:1
K< 4.3:1

Question ID : 26433063949
Status : Answered
Chosen Option : 1




Q.13 T Fifta sraft ¥ frg 22,300 #1 AR TR 10% e Ft R I a1fifer =0 @ TralS e
A 9T b gy STl €483 g1 AUt & Srafy ya B

Ans X 1206 TEH
o 2279
X 3. 199 9 WM
X 437

Question ID : 26433076228
Status : Answered
Chosen Option : 2

QM 5 Siefiie ) BT 42 can 21 S 5 T Gt 7 T T IR (e = 2) |

Ans 1. 5544cm?
X2 2772cm?
X 3. 3663 cm?
K4 4554cm?

Question ID : 26433075748
Status : Answered
Chosen Option : 2

Q.15 iy 36 T & to o B3 Tbelt B1 3 IW B B1 30 fo=Y & B2 wpeit 71 A Wifa ok
3 U 1Y BT 3= B & AfPT 3 9 R 21 A 3 37 ved o Bis T 8, @
P YT 1 B T Fot HTd GRT g3

Ans X 1.11f&F
o 2. 1817
X 3. 16
* 4.14feT

Question ID : 264330116912
Status : Answered
Chosen Option : 2

Q.16 Tfg A 3R B & FARITIUTE GUT A, B 3R C & Iguigurdl ST 3qura 3: 43, AB: C FT
U ___®I
Ans X 1.5:4

& 2.3:4
K 3.4:5
X 4.4:3

Question ID : 26433080117
Status : Answered
Chosen Option : 4

Q17 5N TPH FTH $I 2 {31 § 11 o7 & §, 4 AfRag 34 3 G # o wpdl § SR 59
I 3 AT A W HT qHad &1 1 739, 1 Afgan 3R 1 g=1 Y frae? S o & fFaa
et & g ¥

Ans X 1.10feF

X 2.6fcA
X 3.8f

o 4. 4T

Question ID : 26433076048
Status : Answered
Chosen Option : 4




Q.18 figRs.2 W 3 F1 T A WIS 91 & 3R Rs.3 H 2 F) X A A 91 &1 1Y wifo=ra g
Biferg]

Ans 7 1.125%

X 2.128%

X 3.115%

< 4.120%

Question ID : 26433075148
Status : Answered
Chosen Option : 1

Q.19 TH WY HIA BT I IHUTE URT 6% AT TR 3R AT AT 3% P g1 U= 991 7411 9fe o
T Rs.600 8, A 3H WY AT HT T G4 (Rs. ) gl
Ans X 1.Rs.14,000

< 2. Rs.18,000
« 3.Rs.16,000
< 4. Rs.22,000

Question ID : 26433073006
Status : Answered
Chosen Option : 3

Q.20 TP HREM § TGR 5 A1 F 7482, 8952, 6524, 8432 3R 6562 FHTFUI BT JcdTS gIaT
21 T3 WA ¥ fPa-il gP1gal BT SdTeH fohaT ST A1fge, a1feh 6 HE IR &1 39 ScTe
7200 g WTQ?
Ans X 1.5812

X 2.4912
 3.5248
X 4.5420

Question ID : 26433079995
Status : Answered
Chosen Option : 3

Section : Part-D-English

Q.1 Select the most appropriate ANTONYM of the word given in the brackets to fill in the
blank.

Don't try to walk (after) you can crawl.
Ans 7 1. before
< 2. later
/< 3. already
< 4.soon

Question ID : 26433088852
Status : Answered
Chosen Option : 1




Q.2 Select the most appropriate meaning of the given idiom.

At the drop of a hat
Ans & 1. Do something immediately without hesitation

5 2. Refuse to do something
< 3. Force someone to behave in a disciplined manner

5 4. Extremely pleased about something

Question ID : 26433072685
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blanks in the given sentence.
I___ thegiftof myauntandshe ___ money from my father.

Ans 1. accepted; expected

< 2. excepted; expected

/< 3. accepted; excepted

< 4. excepted; accepted

Question ID : 26433084773
Status : Answered
Chosen Option : 1

Q.4 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

A unanimos consent of all the shareholders was required to approve the merger.
Ans X 1.Unanemous
25 2. Ananimous
«” 3. Unanimous
25 4. Anenimous

Question ID : 26433073561
Status : Answered
Chosen Option : 2

Q.5 Select the most appropriate meaning of the highlighted idiom in the given sentence.

The marriage of my elder brother has been on the cards for some time now.
Ans X 1. Improbable
o 2. Probable
75 3. Stuck
& 4. Certain

Question ID : 264330108897
Status : Answered
Chosen Option : 2




Q.6 Select the most appropriate option to fill in the blank.

There is only one thing that with us that cannot be taken away: to act with
courage and dignity and to stick to the ideals that have given meaning to life.

Ans X 1. have remained
& 2. remains
/< 3. remaining
X 4. remained

Question ID : 26433092114
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

You should take your car in for a service because it has starting to make weird noises.

Ans X 1. because it had starting to make weird noises
/< 2. because it has start to make weird noises
75 3. No substitution

«” 4. because it's starting to make weird noises

Question ID : 264330101021
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate synonym of the underlined word in the given sentence.

In his moment of despair, | am with him.
Ans X 1.contentment
< 2. hope
& 3. misery
< 4. beliefs

Question ID : 26433092105
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate synonym of the word ‘liberate’ from the following
sentence.

There is a famous saying by Rousseau which says that man is born free but he is
surrounded by the clutches of slavery in society.

Ans X 1. Clutches
< 2. Slavery
«” 3. Free
2 4. Surrounded

Question ID : 26433072264
Status : Answered
Chosen Option : 3




Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Rosie became an expert in the field of painting by her.
Ans X 1. paint by himself

«” 2. painting by herself
< 3. No substitution required
5 4. painted by herself

Question ID : 26433088561
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the given word.
Courtesy
Ans 7 1. Crudeness
25 2. Modulate
#< 3. Decline
X 4. Generosity

Question ID : 26433090792
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.
Cheerless
Ans X 1.Strong
X 2. Clear
«” 3. Gloomy
< 4. Bright

Question ID : 26433074043
Status : Answered
Chosen Option : 3

Q.13 Parts of the following sentence have been given as options. Select the option that
contains an error.

The instructions on the bottle say — open the packet and poured the contents into hot
water.

Ans X 1.say— open the packet and
«” 2. poured the contents
#< 3. into hot water
25 4. The instructions on the bottle

Question ID : 26433088470
Status : Answered
Chosen Option : 2




Q.14 Select the INCORRECTLY spelt word.

Ans

< 1. Jeopardy
/< 2. Demolish
75 3. Discard
o 4. Discersive

Question ID : 26433073654
Status : Answered
Chosen Option : 4

Q.15 Select the word that is OPPOSITE in meaning to the given word.

Ans

Benevolent
5 1. Magnanimous

25 2. Unsparing
5 3. Benign
« 4. Malevolent

Question ID : 26433074427
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effect (1) on the mind by travelling depends entirely on the mind of the traveller
and on the way in which he conducts himself. The chief idea of one very common type of
traveller is to see as many objects of (2) as he possibly can. If he can only after
his return home say that he has seen such and such a temple, castle, picture gallery, or
museum, he is perfectly (3) . Therefore, when he arrives at a famous city, he

(4) it, so that he may get over as quickly as possible the task of seeing its principal
sights, entered them by name in his notebook as visited or, in his own phraseology ‘done’,
then hurry on to another city which he treats in the same (5) way.

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in blank number 1.

Ans

< 1. appeared
5 2. created

«” 3. produced
/< 4. ingrained

Question ID : 26433089094
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effect (1), on the mind by travelling depends entirely on the mind of the traveller
and on the way in which he conducts himself. The chief idea of one very common type of
traveller is to see as many objects of (2) as he possibly can. If he can only after
his return home say that he has seen such and such a temple, castle, picture gallery, or
museum, he is perfectly (3) . Therefore, when he arrives at a famous city, he

(4) it, so that he may get over as quickly as possible the task of seeing its principal
sights, entered them by name in his notebook as visited or, in his own phraseology ‘done’,
then hurry on to another city which he treats in the same (5) way.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. variety

o 2. interest
5 3. rarity
& 4. desire

Question ID : 26433089095
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effect (1) on the mind by travelling depends entirely on the mind of the traveller
and on the way in which he conducts himself. The chief idea of one very common type of
traveller is to see as many objects of (2) as he possibly can. If he can only after
his return home say that he has seen such and such a temple, castle, picture gallery, or
museum, he is perfectly (3) . Therefore, when he arrives at a famous city, he

(4) it, so that he may get over as quickly as possible the task of seeing its principal
sights, entered them by name in his notebook as visited or, in his own phraseology ‘done’,
then hurry on to another city which he treats in the same (5) way.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.enjoyed
#< 2. happy
< 3. amused

o 4. satisfied

Question ID : 26433089096
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effect (1), on the mind by travelling depends entirely on the mind of the traveller
and on the way in which he conducts himself. The chief idea of one very common type of
traveller is to see as many objects of (2) as he possibly can. If he can only after
his return home say that he has seen such and such a temple, castle, picture gallery, or
museum, he is perfectly (3) . Therefore, when he arrives at a famous city, he

(4) it, so that he may get over as quickly as possible the task of seeing its principal
sights, entered them by name in his notebook as visited or, in his own phraseology ‘done’,
then hurry on to another city which he treats in the same (5) way.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.

Ans X 1.comes across
X 2. visits
«” 3. rushes through
< 4. browses through

Question ID : 26433089097
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The effect (1) on the mind by travelling depends entirely on the mind of the traveller
and on the way in which he conducts himself. The chief idea of one very common type of
traveller is to see as many objects of (2) as he possibly can. If he can only after
his return home say that he has seen such and such a temple, castle, picture gallery, or
museum, he is perfectly (3) . Therefore, when he arrives at a famous city, he

(4) it, so that he may get over as quickly as possible the task of seeing its principal
sights, entered them by name in his notebook as visited or, in his own phraseology ‘done’,
then hurry on to another city which he treats in the same (5) way.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans X 1.nonchalant

< 2. disinterest
¢ 3. unceremonious

< 4. lack lustre

Question ID : 26433089098
Status : Answered
Chosen Option : 3

Section : Part-D-Hindi

Q.1 a1 S FHRAT1 ¥Fifhd Xeg & T UR YETaRT BHTI-
Ans X 1. 301

> 2. i
o 3. T
X 4. U

Question ID : 26433062818
Status : Not Answered
Chosen Option : --




Q.2 fafifed ¥ 3 g aw -

Ans X 1. T foem o1 Wg o o femmy aat off
o 2. Tl P 31 31 H o fesTy 9t oI
X 3. Mot ot o1 W8 H o faaTene 9at |
X 4. Tl Fo @1 s H o fosTy 9 of|

Question ID
Status
Chosen Option

1 26433066846
: Not Answered

Q3 3T Y TR & Y@ifed W o S fawey | uivafda w31
3nft g fER & oM@ s it e+t gafRea T8 31
Ans X' 1. 9MYd
X 2. gfed
X 3.fa
o 4. RR

Question ID
Status

126433069916
: Not Answered

Chosen Option : --

Q4 fFofifed § A o, seds frar T8 82
Ans X' 1. 3T

X 2. ST

& 3.1l

&K 4.38T

Question ID
Status

126433085038
: Not Answered

Chosen Option : --

Q.5 St 3 T F
faw T etz & fore v W grm-
Ans X 1.3[C™
& 2.3
X 3. vara
X 4. 5T

Question ID
Status

1 26433070055
: Not Answered

Chosen Option : --

Q.6 g d A g e § ad 1 eyl 82
Ans X 1.

X 2. 3Py

X 3. AaQING

4. isst

Question ID
Status

1 26433067110
: Not Answered

Chosen Option : --




Q.7 g gurrd 2l A 9§ SR Weg F1 YA F AT MY a1 & e R $1 gid a0
w7 st A R TR W oa o A BT AP T B

Ans  _p 1 3%
&K 2.9d

X 3. B1ehT
< 4. 3ud™

Question ID : 26433062933
Status : Not Answered

Chosen Option : --

Q.8 ¥@ifhd S F WM W FTH UG favey 3y ¢ el & & w182

TR TP SUANT 3R B
Ans 1 TA
X 2.5
X 3. @
X 4.9

Question ID : 26433066874
Status : Not Answered

Chosen Option : --

Q9 Fafafad e & ¥ F19-8 arew ¥ Wemaras =i &1 3Rra waihT 8t fbar T 82
Ans s 1 adie o€l G as B

X 2. UfFd &7 d& Uit &1 SR Sk X@T|

X 3. YU BT AN & A1 IO I 5

X 4. VIRA BT 8 G SMEH IHH B

Question ID : 26433062969
Status : Not Answered
Chosen Option : --

Q.10 q7eg # ¥@ifhd Tee B! 3T T¢ wedl # A I weg A T |
fawat & Sy €19 A wdT g 81

Ans X 179
X 2. o
o 3. i
X 4.8

Question ID : 26433062876
Status : Not Answered

Chosen Option : --

Q.11 Waﬂq’qfqaﬁﬁma%
Ans 1. GJd

X 2.9

&K 3.4

X 4.3

Question ID : 26433062913
Status : Not Answered

Chosen Option : --




Q.12 e e &7 faey Fam ghme

¥@ifed 2 & Ifwa watgard W &1 9949 FIRw)
Ans X 1.3
2.
X 3. 4Ag
& 4.999

Ans X 1. Gudid

X 2. 3o

X 3.y

4. faeTrda

Question ID : 26433067094
Status : Not Answered
Chosen Option : --

Q.13 Rig It TTHR W P T3S MUY

Question ID : 26433079726
Status : Not Answered
Chosen Option : --

Q14 R RPAFTFEUTr TS Rwaieas e -
Ans 1 ReY

X 2. fydfta

X 3.fges

X 4. Aty

Question ID : 26433062338
Status : Not Answered
Chosen Option : --

Q.15 TR FHMAET YeTa¥ b1 I e 2-
Ans p 1 38 &1

X 2 RAP T

X 3. P SR A

X 4. TR FAA

Question ID : 26433065882
Status : Not Answered
Chosen Option : --




Comprehension:

Frafafed Te o 9§ 39 Yea get fau e 71 T T faw e ot weradn & Rad i @t gfd
BT | T WA o 1Y SUGeHR fadhed &1 9u Hiford|

WRIfERE 1. T B G 2. ¥ 91 qa1gd 3l 3. St | el gar
I 4. iR el 319 Al 81 59 5. F UGB

SubQuestion No : 16
Q.16 Yo R 1 B I & fore walfie Suged fawe &1 997 Fifvm|
Ans X' 1. @1

2. 15

X 3. @

X4®

Question ID : 26433069756
Status : Not Answered
Chosen Option : --

Comprehension:

Frafafed meme & 9 3o eg ger fat U 71 Ay Y s @t weraar § fead R # gl
FIY | TP WA & oY ST fahed BT 79 BT |

RIfERE 1. T & TR 2. ¥ dIg dead 3l 3. Smartt aft-wef gar
IF 4. 2 3R UheT BT Al B 9 5. F UG B

SubQuestion No : 17
Q.17 f¥ad w2 B g & fore walfire Suged fAwe o1 997 Fifm|
Ans X 1 U
& 2.0
X 3.UM
X 4. U

Question ID : 26433069757
Status : Not Answered
Chosen Option : --

Comprehension:

FofaRed T 7 ¥ $© e 5ol fau MU 71 e Y fAeed! &1 Ferar 3 Rad RiFl &1 gfd
FIT | T WA & foTT I fadhed &I Ia- Hiforg|

RIfFERE 1. TH & R 2. F dIE T Sl 3. St il gar
I 4. 2 3R UhgT ST Al B 1 9 5. F UeT 8

SubQuestion No : 18
Q.18 f¥aa w3 F gfd & fore waiftre Suged fawed &1 997 #ifvm|
Ans X 1. gt
X 28
X 3.8
& 47

Question ID : 26433069758
Status : Not Answered
Chosen Option : --




Comprehension:

Frafafed Te o 9§ 39 Yea get fau e 71 T T faw e ot weradn & Rad i @t gfd
BT | T WA o 1Y SUGeHR fadhed &1 9u Hiford|

WRIfERE 1. T B G 2. ¥ 91 qa1gd 3l 3. St | el gar
I 4. iR el 319 Al 81 59 5. F UGB

SubQuestion No : 19
Q.19 Yo R 4 B I & fore walfie Suged fawe &1 997 Fifvm|
Ans X 1.
X 2.9
o 3. STl
X 4.9l

Question ID : 26433069759
Status : Not Answered
Chosen Option : --

Comprehension:

Frafafed meme & 9 3o eg ger fat U 71 Ay Y s @t weraar § fead R # gl
FIY | TP WA & oY ST fahed BT 79 BT |

RIfERE 1. T & TP 2. ¥ dIg dead 3l 3. Smartt aft-wef gar
IF 4. 2 3R UheT BT Al B 9 5. F UG B

SubQuestion No : 20
Q.20 Yo w5 B g & fore walfire Sugad fAwe &1 997 Fifm|
Ans X 1.39%
2.3
X 3.39%
X 4. 3°D1

Question ID : 26433069760
Status : Not Answered
Chosen Option : --
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